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KENTPO KOINQNIKHZ MEPIMNAZXZ «ZuvTApnon XAOOTATTNTA YNTTESWV
MAIAEIAZ-AGAHTIZMOY-NMOAITIZMOY KwoTtakiwv AnuoTtikoU Aptag-
AHMOY APTAIQN F'Aukopifou -TI.NoAddon»

ANAAYTIKH NMPOMETPHZH EPrAZION

Emoadveia ynmédwyv 33,30Tpéppara.

1. Aimavon yAootannta e MTUGUOTOOOVOUE

Anuotikd Aptag (7,6 otp. X 4 mopeuPaceig)t Iokdppilo (9,6 otp. X 3 mopeppdoeic)+
I'ToAddaone ( 8,1 otp. X 3 mapepPdoeic)+ Kootaxkidv ( 8 otp. X 3 mapeuPaceig) = 107,50
oTp.

2.DVTOTPOCTAGIO YAOOTATNTA UE WYEKAGTIKO UMYV ILOL:

Anuotikd Aptag (7,6 otp. X 3 mopeuPaceig)t Iokdppilo (9,6 otp. X 1 moapeppdoeic)+
I'.ToAdaong ( 8,1 otp. X 1 mapepupdoec)+ Kootakiov ( 8 otp. X 1 mapeupdoeic)= 48,5
o1p.

3.Kovpépoto pe YAOOKOMTIKO UNYGVILO TEPIGTPOPIKOV TOTOV:

Anuotikd Aptag (7,6 otp. X 25 wovpépota)t I'Avkoppilo (9,6 otp. X 25 wovpéuata)t
I'.T'oAdaong ( 8,1 otp. X 23 xovpéuata) + Kootaxkiodv ( 8 otp. X 25 mapepupdoeic)= 832,5
o1p.

4.Tlotiocpoto (ApOEVOT YAOOTATNTO UE EKTOEEVTIPEG- OLVTOUATOTOUNIEVO):

Anpotikd Aptag (7,6 otp. X 100 mapepPacec)+ [Nokoppilo (9,6 otp. X 100 mapeupaceic)+
I'.T'oAdaone ( 8,1 otp. X 100 mwapepPaoeig) )+ Kootakimv ( 8 otp. X 100 mapeppdoeic)=
7185 otp.

5. KvAwdpiopota

Anuotikd Aptag (7,6 otp. X 14 mapeuPaceg)t+ [okoppilo (9,6 otp. X 13 mopeuPaceic)+
I'ToAddaone ( 8,1 otp. X 14 mapepPaoeg) + Kootokiov ( 8 otp. X 14 mapepfdoeig)=
456,60 otp.

6. Agpiopdc

Anuotikd Aptog (7,6 otp. X 2 mapepupdoeig) + I'wkdppilo (9,6 otp. X 0 mopepupdoeic)+
I'T'oAddaong ( 8,1 otp. X 0 mopeuPacelg) + Kootaxkidv ( 8 otp. X 0 mapeppdoeig)= 15,2
o1p.

7.Botévicua

Anuotikd Aptog (1/2 otp. X 24 mapeppdoeic) + I'wkdppilo (1 otp. X 24mapeppdoeic)+
I'ToAdaong (1 otp. X 24 mopeupPacelg) + Kootoakiov ( 1xarl/2 otp. X 24 napeppdoeic)= 4
o1p.

8. Awypaupion yrootannto
Oa amartnBovv cuvorkd 80 dwoypoupiosc.
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